FA4o] (2,-1) o|1L, BAI B9 Zol7h V5 ol o] AL

@ (x+22+(-1)2=5 @ (x+2+(-1)2=+5
® (x-22+@(+1)%2=5 @ (x-22%+0+1)2=15

® (x=2)%+ (y+1)* =5






o x| 52| Bolzt

2 ® 3 @ 2v3 ® 4

@ 2

O 2



A(2, 0), B(0, 2 o
= ege &I%);’ﬂ/ﬂJ 712 9] AFe] ol 1291 A4 P(
| 213 P(x, y) 9] A

2
O x®+y?+2x+2y=
y—2 @ 2 2
Py +2x -2y =2

2
® x +y2_2x+2y:2
@ x4y -2
x_2y22

® x2+y2
y4+x—-y=2



5.

x?4+y?4+8x—6y—1 =0} F4lo] &

ol F5hH?

@ 4 @ 5

@ 8

® 10



6.

Y +)y? +4x-2y+1 =0 TH

@1 @ 2 @ 3

=

f=

o] Zoji=?

@ 4



7. D24y -2-3 =03 FAo] 2L A (1 1) Ahe A9
ALY

D x24+y2-2y=0 @ xX*+y>-2x+1=0
@ x> +y?-2y-1=0 @ x> +y2-2x+3=0

® x+y?-2y+1=0



dolo] A ao] tiste] ¥ x® +y* +ax+ (a+2)y-(2a+4) =02
T A, BE AdH o] ff A& AB 9] F3 ] 2uE otH?

o) o))



o
o
=
2
=
I
l—l
>
i
>
(il
1o

=
s

D (x-1)2+(-4)2=4
@ (x-1)22+(y-2)%2=4

® x*+y? =2

@ (x+1)?+(y-2?%=8

@ 2+ (y-3)2 =2






o] 77}
st g9



D x2+y?-2x-4y-7=0
@ x4y +4x+8y—-15=0
@ x*4+y2-2x-6y-5=0
@ x> +y?+4x+8y+15=0

® x24+y?-4x-6y-7=0

tlo



13.

A A (-1, 1), (2, 2), (6, 0= A

@ (2.3) @ (-2,3)
@ (-2,-3)

rr

® (2.-3)



14. Al (0, 0), (2,0), (1, 1)=& Avk= B T4 (x-a)*+(y-b)* =
(2 r>0) L S, a+b+r 2 FS FSHHE?

@ 2 @ 3 ® 4 @ 5 ® 6






16.

Al A2, 1), B(-4, 3),
o] 91419] AEE (a, b)

O -2 @ 3



A

=
=

FHol A y = x 9o AL, = A1, -1), B(3, 5)

@ 23 ® V13

10

©)

@ 22

@ V7



FHCH Ay =20 +1 900 AT T A (2, 1), (6, 5) S Ak
CEREEY

® 107 @ 12n ® 14n @ 167 ® 187



19.

A (6, 2) 5 AYH, x Sl o=

@ 14 ® 17



20. o] 24
AL

O x24+y2-2x+4y-6=0
@ xX*4+y?+2x-4y-6=0
® 5x? + 5y —8x+ 16y -21 =10
@ 5x? +5y2 +8x-16y-21=0

® x®4+y?—4x+8-12=0



